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[TO3-FM101_tot Test 1]

[CERN060726] 060727083623 _FM101_calf_mu_trend.csv [ 25.4C]
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[CERN060905] 060905193642 _FM101_calf_mu_trend.csv [ 26.1C]
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[TO3-FM101_tot Test 2]

[PiBinc] 060716084434_FM101_calf_shp_p01.csv [ 29.7C]

[Pilinc] 060722171315_FM101_calf_shp_p01.csv [ 25.3C]

[CERN060726] 060727083702_FM101_calf_shp_p01.csv [ 25.4C]

[CERN060905] 060905193717_FM101_calf_shp_p01.csv [ 26.1C]
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[TO3-FM101_tot Test 2]

[PiBinc] 060716084434 FM101_calf_shp_pO01.csv [ 29.7C]
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[TO3-FM101_tot Test 2]

[Pilinc] 060722171315_FM101_calf_shp_p01.csv [ 25.3C]
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[TO3-FM101_tot Test 2]

[CERN060726] 060727083702_FM101_calf_shp_p01.csv [ 25.4C]
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[TO3-FM101_tot Test 2]

[CERN060905] 060905193717 _FM101_calf_shp_p01.csv [ 26.1C]
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[TO3-FM101_tot Test 3]

[PiBinc] 060716083049 _FM101_calf_gain_p01.csv [ 29.6C]

[Pilinc] 060722170002_FM101_calf_gain_p01.csv [ 25.1C]

[CERN060726] 060727082323_FM101_calf_gain_p01.csv [ 25.1C]

[CERN060905] 060905181433_FM101_calf_gain_p01.csv [ 25.7C]
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o T03-FM101_tot TIME EVOLUTION [Reference=PiBinc] for LOWEST Relative Gain [Gain index 5, HEX8]
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ROw 2 T03-FM101_tot TIME EVOLUTION [Reference=PiBinc] for LOWEST Relative Gain [Gain index 5, HEX1]
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T03-FM101_tot TIME EVOLUTION [Reference=PiBinc] statistics for LOWEST Relative Gain [Gain index 5]
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T03-FM101_tot TIME EVOLUTION [Reference=PiBinc] for HHGHEST Relative Gain [Gain index 5, LEX8]
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T03-FM101_tot TIME EVOLUTION [Reference=PiBinc] for HHGHEST Relative Gain [Gain index 5, LEX1]
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[TO3-FM101_tot Test 3]
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[CERN060726] 060727082323 FM101_calf_gain_p01.csv [ 25.1C]
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[TO3-FM101_tot Test 3]

[CERN060905] 060905181433_FM101_calf_gain_p01.csv [ 25.7C]




T03-FM101_tot CERN060905 LOWEST Relative Gain [Gain index 5]

. . : : : : : o EX8
84 X+ : : : : : : : oLEX1

HEXS
.HEX1

0.78

0.76 -

rel.gain

082 oo
[ ]

10 15 20 25 30 35 40 45
Channel

25

20

15

=LEX8

=LEX1
HEX8

=HEX1

—
0.84

rel. gain

: : : : : : : oLEX3
84 Y+ : : : : : : : oLEX1

HEX8
oHEX1

[ X) oo o0 L4 ,® o oo, o’oo
lee q.o o.o oo o. ..o.o °

oo"o'ooo'."oo"'."oo..ooo""'o..°.coo°.o.oo

S O SR

00000000000000°000903000,000000003000000p00000,0

0.78] b

Y SRS SO RS S T s -

rel.gain

25

20

15

10

=L EX8
~LEX1

HEX8
=HEX1

0 5 10 15 20 25 30 35 40
Channel

el
0.84

rel. gain

: : : : : : : o EX8
84 X- : : : : . . . oLEX1

HEX8

oHEX1

] RS NSO T T

. R

Y S S S S S N S S

rel.gain

10 15 20 25 30 35 40 45
Channel

25

20

15

10

—LEX8

~LEX1
HEX8

-HEX1

iis 18

ol
0.4

rel. qain

: : : : : : : oLEX8
84 Y- : : : : : : : oLEX1

HEX8

oHEX1

RS S S S S S N S -

25

IIII|IIII|IIII|IIII|IIII|I IIII|IIII|IIII|IIII|IIII|III
N
o)

o I i |

=LEX8
~LEX1

HEX8
=HEX1

0 5 10 15 20 25 30 35 40 45
Channel

.
0.84

rel. gain




T03-FM101_tot CERN060905 HIGHEST Relative Gain [Gain index 5]

rel. gain

rel. gain

rel. gain

oLEX8 —(EX8
34 X+ oLEX1 1__ —LEX1
3.2 Hexs| [ HEX8
E JEXH| [ _HEX1
7 - NS SO AU SO S U SRS SO SR S C
2.6 F oo b C
E 0
P3| SRS SR AR SRR SRR VOO OO SOOI SO N N
22F -
2F ~
18 C
[ S R U B T T S T SRR T L e T T T T T T e

5 10 15 20 25 30 3% 40 45

-

L |
3.2

Channel rel. gain
: [EX8 —LEX8
34| Yo [rroirmddes R wext| ' _LEX1
3o ST U SO S HEX8 L HEX8
r : oHEX1 o ~HEX1
K L T FYEPEPE-PRPLPPE B
pX: | S S S S S C
pX ) SN SO S S R S RTCITE SRS SERN 0:
2.4t SRR TR T SRR TR
2.2 - i C
P D Py EE PP E - PR PP PP PPEPE P EPE PNt EPEEPRPE-PEPEPER PP B
- T LT LT PR P N
1-6 :-I“I“I-I--I”I-I--I--i-;-I--I--I-i-I--I-;-I--i--I-I--I--I-i-I--I-;-I--i--l-l--l--l-i-l--I--I-I--i--l-l--l--l-'l-l--l- -1 _I I 1 11 I 11 1 I 11 1 I 11 1 I 11 1 I 11 1 I 11 1 I 11 1 I 11 1 I 1
0 10 15 20 25 30 35 40 1.6 1.8 2 2.2 24 26 28 3 32 34
Channel rel. gain
®LEX8 _ —LEX8
34 X- """""""""""""""""""""""""""""""""""""" oLEXI1 1_ -LEX1
B b b HEX8 B HEX8
E oHEX1 L _HEX1
3 AR AR AR IR AR AR -
2RSS SRR FORA OO SRR SRR NS SO SO0 A
2.6 b SUUURU S UUUU SURUUI SUUURROS SO C
C : 0
24 b . N I H A S
2.2F e TSRS SR NSO S -
7Y SRR SRS HOURURE SOURURURE SURURURE SSOURUN: SUUOUUE FOURURURE SRR SO —
X L RNt SOURURU USROS SOURUUOE OO SO SOPSE SO C
1.6 F b TR UL SURT RN SO 1

_I 111 I 1111 I 1111 I 111 1 I 111 | I 111 | I 1111 I 1111 I 1111 I 11 L I 11 1 I 11 1 I 11 | I 11 | I 11 | I 11 | I 11 1 I 11 | I 11 | I 1
10 15 20 25 30 35 40 45 16 1.8 2 22 24 26 28 3 3.2

Channel rel. qain

CEX3 —LEX3

B4 Wa [rrdeede wext| e _LEX1

BT e A S A S S S, HEXs| | HEX8

c oHEX1 = —HEX1
2.8 et e B
3 S P S 0:
3 I TS -
2.2 b C
P L e L LR R LT LT LEEEE ERL T LD N
1.8 -t N

1-6 :-I--I--I-i.-I--I-I--I--i-:-I--I--I-i.-I--I-:-I--i--I-I--I--I-i-I--I-:-I--i--I-I--I--I-i-I--I--I-I--i--l-l--l--l-'l-l--l- -1 [ 11 11 1 I 11 11 1 I 11 11 11 1 I 11 11 | I 1

0

10 15 20 25 30 35 40 45

Channel

-

'o.,_

1 I
32 34
rel. gain




